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3agada S-29.1. Aunenunes Bavecaas

yl/_ PlM 2
fplz

2

A/

.3

8

F=25xH, P=2xH, M = 7xHwm, cosa = 0.8.

3amaga S-29.2.  Awndpees Uzopv Baadumuposun

F=35xH, P=1xH, M = 6xHwm, cosa = 0.8.
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3amaua S-29.3. Bacmpuweun Andpeti Cepzeesun
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F=7xH, P=3xH, M = 17xHwMm, cosa = 0.8.

3amaua S-29.4.  Beasanxun Huxuma Andpeesun

F=20xH, P=3xH, M = 7xHwm, cosa = 0.8.

3ana4ya S-29.5. Botixo Andpeti Opvesun

F=15xH, P =2xH, M = 8xkHwm, cosa = 0.8.

3anaya S-29.6. Topbynosa Aauca

F=50xH, P=4xH, M = 20xHwm, cosa = 0.8.

3amaua S-29.7. Heanosa Jlobosv Cepzeesta

F=60xH, P=3xkH, M = 12xHwm, cosa = 0.8.

3amaua S-29.8. Kopowcosa Banaepusa
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F=20xH, P=1xH, M = 4xHwm, cosa = 0.8.




3anaga S-29.9. Jlaguuyrosa Mapuna I'ennadvesta
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F=5xH, P=1xH, M = 3xHwm, cosa = 0.8.

3amaua S-29.10.
a
B

F=15xH, P=1xH, M = 3xHwm, cosa = 0.8.

Jenemioxa Bapsapa
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3amaua S-29.11. Jyxuna Banepusa Cepzeesta
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F=40xH, P=1xH, M = 3xHwm, cosa = 0.8.
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3amaya S-29.12. Mawmedos Hlazxmap
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F=25xH, P=4xH, M = 15xHwm, cosa = 0.8.
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3amauga S-29.13. Huxumuna Anacmacus

Cepecesha

F=10xH, P =3xH, M = 12xHwm, cosa = 0.8.

3agaua S-29.14. Ioomocxkosras Banepus
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F=20kH, P=1xH, M = 4xHwm, cosa = 0.8.

3amaua S-29.15. Cemenos Hean Cepeeesuy
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F=30xH, P=5kH, M = 7xHwm, cosa = 0.8.

3amaua S-29.16. Travwyx T'eopeuti Huxoraesuy
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F=15xH, P=15xH, M = 7xHwm, cosa = 0.8.

3amaua S-29.17. Tpywrun Eezenud
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F=30xH, P=5xkH, M =20xHwMm, cosa = 0.8.

3agaua S-29.18.
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F=40xH, P =3xH, M = 15kHwMm, cosa = 0.8.




3agada S-29.19.
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F=15xH, P =4xH, M = 4xHwm, cosa = 0.8.

3amaua S-29.20.
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F=25xH, P=6xkH, M = 22xHwm, cosa = 0.8.

3amaua S-29.21.
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F=20xH, P=2xH, M = 5xkHwm, cosa = 0.8.




